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u—7A RKY > | min! 1000+25 115025
( WHKER ) C (70~80) (70~80)
C fEBh MR ) C (60~70) (60~70)
- 1 ¥ e kPa 392 294~441
(kgf/cm?) 4 3.0~4.5
o &) K (90) (85~90)
([l ) min! (2500) (2300)
v I EM - KSR mm 0.25 0.2
- PR mm 0.25 0.2
(RERF D 5AF) () ()
o i 77 kPa 2942 2900~3200
(kgf/cm?) 30 30~33
( WHAKE ) C (K %) (B2 1%)
( [RHE ) min! (290) (250)
Ng
R Wi ) LD kPa 13729 13700
PREHIE S BR AA 7 (kef/cm?) (140) (140)
h H 3k Ty YL NRD - R mm 10~12 7~9
(v MFLDT ) N (98) (59~68)
(kgf) (10) (6~7)
AT M ORE e BT E km/h 12 10
(E Tk + SF) ( ) ( )
75y F T | BT EE cm — —
ArFT WRDA ho—2 cm — —
v BALr—7 cm — —
7 gy FRiE | Xy va s kPa o -
7oAy (kgf/cm?)
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(2 v va ilik) K
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T louxs A TP, Nem B _
DN Aov Mt sy (kgf * m)
Xi% R
. KS54 7 7‘:—%/7‘;‘5%5& mm
% Fr—r (F == AL 7)) N — —
(kgf)
HSTH HE [E] 35 0 MPa. 34.5 34.5
" Tyvar VY—T7ty MNES (kgf/cm) 350 350
C R ) K (50+5) (50=+5)
BA =N | KA =T VT F v b N-m o o
A% Rt b v s (kgf * m)
A A Y ERKE [B5H] kPa - B
(kgf/cm?)
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FoNERPER | B MERPER ST m 4.0 4.3
T‘% R KB f4) Ji — —
g | NT =277 | HEREEE O MPa 15 15
B U VU—7%y MNEAH (kgf/cm?) 155 155
C o ) C (50+5) (50=5)
HEIT7L—% |HSTRH T4 7 7L —F0D HST X HT 4 7 |HST X H T 4 7
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TA =T DES mm
Ny 7T = NIRRT N-m - -
" T MR vy ket o m)
= [7 4 2273
F 4 AT DES mm — —
Ry FOREE mm
= T4 ATy b Nem - -
fiEtHT s ovo (kgf * m)
BEHLZ L—% | IEHRE ) (IdRAEGRFF D) HE 11.3 11.3
A (N A AL v FH | AL v FK
TERIEZE D E &2 FER
LAS—Z fha—2 mm
RILEFA =2 7O | mm
B4 = 2 BT AN BT Rvs | Nem 157 157
Q (kef +m) (16) (16)
g | R T[] MPa 17 17
Iy VIY—7ky MNEH (kgf/cm?) 175 175
C o ) C (50+5) (50=5)
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